E+n

x 10”

159

E+3

x 1000

19

(kg/

)

(ka/ )

2.1E+2

210.0

210.0

O|o|N|[o|O~|WIN]|F

=
o

4.0E+1

40.0

40.0

[y
[N

5.7E+1

57.0

3.0E+0

1.3E+4

13,003.0

13,060.0

=
N

[y
w

[y
SN

15E+1

15.0

15.0

[
()]

=
(o]

[EN
~

[y
(o]

3.0E-1

0.3

0.3

[y
(e}

N
o

N
i

N
N

N
w

3.0E-1

4.0E-1

0.7

3.4E+2

341.0

3417

N
S

9.6E+1

96.3

96.3

N
(&)

6.6E+0

6.6

6.6

N
[o)]

1.0E-1

0.1

1.6E+2

160.0

160.1

N
~

2.0E-1

0.2

0.2

N
(o]

1.0E-1

0.1

14E+1

14.0

14.1

N
o

w
o

w
ey

w
N

w
w

3.3E+2

330.0

330.0

w
5

w
(83

w
(o)]

w
~

w
[ee]

7.9E+1

79.0

7.7E+3

7,700.0

7,779.0

w
©

N
o

SN
[y

o
N

SN
w

11E+1

11.0

11.0

SN
SN

N
[S]

N
(o}

N
-

1.4E+2

4.0E-1

137.2

3.0E+0

2.2E+4

21,927.1

22,064.3

[y
o




